

ABC Bid Data

STATEWIDE GUARDRAIL REPAIR NORTH

44530

NON-FEDERAL

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	STATEWIDE GUARDRAIL REPAIR NORTH 44530 NON-FEDERAL March 07, 2024, 2:00 Guardail Repair North - I-93 Exit 20 to VT border December 05, 2025 Grafton	Awarded To: Amount: Award Date:	VERMONT RECREATIONAL SURFACING & FENCING ING PO BOX 147 BARNET, VT 05821 \$441,125.00 C	WILLIAM.J.OLDENBURG	
		Summary of Bidders			
Contractor				Bid Amount	Rank
VERMONT RECREAT PO BOX 147, BARN	IONAL SURFACING & FENCING INC NET VT 05821			\$441,125.00	A
	LLC dba CWS FENCE & GUARDRAIL AD, ANDOVER NH 03216-3810			\$464,285.00	В
DELUCCA FENCE CO 5 OLD FERRY ROA	MPANY, INC. AD, METHUEN MA 01844			\$464,858.75	С





STATEWIDE GUARDRAIL REPAIR NORTH

44530

NON-FEDERAL

				1	≥S&E	VERMONT RECREATIONAL SURFACING & FENCING INC PO BOX 147 BARNET, VT 05821		CWS SLITER & SONS LLC dba CWS FENCE & GUARDRAIL 261 FRANKLIN ROAD ANDOVER, NH 03216-3810	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price Total		Unit Price	Total

Items

606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	500.00	\$20.00	\$10,000.00	\$22.00	\$11,000.00	\$35.00	\$17,500.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	40.00	\$4,500.00	\$180,000.00	\$4,887.00	\$195,480.00	\$4,900.00	\$196,000.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	10.00	\$4,500.00	\$45,000.00	\$4,887.00	\$48,870.00	\$4,900.00	\$49,000.00
606.1471	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (MASH MID-SPLICE)	U	8.00	\$1,400.00	\$11,200.00	\$1,700.00	\$13,600.00	\$2,500.00	\$20,000.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	2,500.00	\$40.00	\$100,000.00	\$41.50	\$103,750.00	\$41.00	\$102,500.00
606.28001	31" DOUBLE FACED W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	50.00	\$55.00	\$2,750.00	\$55.00	\$2,750.00	\$48.00	\$2,400.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	35.00	\$7.00	\$245.00	\$5.00	\$175.00	\$11.00	\$385.00
621.31	SINGLE DELINEATOR WITH POST	EA	150.00	\$55.00	\$8,250.00	\$70.00	\$10,500.00	\$60.00	\$9,000.00
621.32	DOUBLE DELINEATOR WITH POST	EA	50.00	\$70.00	\$3,500.00	\$80.00	\$4,000.00	\$70.00	\$3,500.00
692.17	MOBILIZATION - EMERGENCY (GUARDRAIL REPAIR)	U	2.00	\$1,500.00	\$3,000.00	\$2,000.00	\$4,000.00	\$6,000.00	\$12,000.00
692.18	MOBILIZATION - NIGHT (GUARDRAIL REPAIR)	U	1.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$6,000.00	\$6,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	44,000.00	\$1.00	\$44,000.00	\$1.00	\$44,000.00	\$1.00	\$44,000.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
			Totals:		\$411,945.00		\$441,125.00		\$464,285.00
			Alt. Totals:						
	Totals:				\$411,945.00		\$441,125.00		\$464,285.00

ABC Bid Data



STATEWIDE GUARDRAIL REPAIR NORTH

44530

NON-FEDERAL

				F	PS&E	DELUCCA FENCE COMPANY, INC. 5 OLD FERRY ROAD METHUEN, MA 01844			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	500.00	\$20.00	\$10,000.00	\$38.50	\$19,250.00	
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	40.00	\$4,500.00	\$180,000.00	\$5,250.00	\$210,000.00	
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	10.00	\$4,500.00	\$45,000.00	\$5,100.00	\$51,000.00	
606.1471	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (MASH MID-SPLICE)	U	8.00	\$1,400.00	\$11,200.00	\$1,625.00	\$13,000.00	
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	2,500.00	\$40.00	\$100,000.00	\$39.25	\$98,125.00	
606.28001	31" DOUBLE FACED W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	50.00	\$55.00	\$2,750.00	\$70.00	\$3,500.00	
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	35.00	\$7.00	\$245.00	\$5.25	\$183.75	
621.31	SINGLE DELINEATOR WITH POST	EA	150.00	\$55.00	\$8,250.00	\$60.00	\$9,000.00	
621.32	DOUBLE DELINEATOR WITH POST	EA	50.00	\$70.00	\$3,500.00	\$65.00	\$3,250.00	
692.17	MOBILIZATION - EMERGENCY (GUARDRAIL REPAIR)	U	2.00	\$1,500.00	\$3,000.00	\$3,850.00	\$7,700.00	
692.18	MOBILIZATION - NIGHT (GUARDRAIL REPAIR)	U	1.00	\$2,000.00	\$2,000.00	\$3,850.00	\$3,850.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	44,000.00	\$1.00	\$44,000.00	\$1.00	\$44,000.00	
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	
			Totals:		\$411,945.00		\$464,858.75	
	Alt. Totals:							
			Totals:		\$411,945.00	\$464,858.75		



44530

NON-FEDERAL

				A-Bide	der	PS8	E	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
ltems								
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	500.00	\$22.00	\$11,000.00	\$20.00	\$10,000.00	\$1,000.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	40.00	\$4,887.00	\$195,480.00	\$4,500.00	\$180,000.00	\$15,480.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	10.00	\$4,887.00	\$48,870.00	\$4,500.00	\$45,000.00	\$3,870.00
606.1471	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (MASH MID-SPLICE)	U	8.00	\$1,700.00	\$13,600.00	\$1,400.00	\$11,200.00	\$2,400.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	2,500.00	\$41.50	\$103,750.00	\$40.00	\$100,000.00	\$3,750.00
606.28001	31" DOUBLE FACED W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	50.00	\$55.00	\$2,750.00	\$55.00	\$2,750.00	\$0.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	35.00	\$5.00	\$175.00	\$7.00	\$245.00	(\$70.00)
621.31	SINGLE DELINEATOR WITH POST	EA	150.00	\$70.00	\$10,500.00	\$55.00	\$8,250.00	\$2,250.00
621.32	DOUBLE DELINEATOR WITH POST	EA	50.00	\$80.00	\$4,000.00	\$70.00	\$3,500.00	\$500.00
692.17	MOBILIZATION - EMERGENCY (GUARDRAIL REPAIR)	U	2.00	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00	\$1,000.00
692.18	MOBILIZATION - NIGHT (GUARDRAIL REPAIR)	U	1.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	(\$1,000.00)
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	44,000.00	\$1.00	\$44,000.00	\$1.00	\$44,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00

Total: